Circles—Day 2

10.2 and 10.4 Angles and Arcs

Review Example 1: Find the m<AOD. LAQD *‘DDC + &4C0B = 180
I5x + 3k + 2% = )80
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Example 1: In Circle O, mAB = 140,mBC = 100, mAD = mDC. Find The meosures of
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Why?2 This is because if two inscribed angles of a circle infercept
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congruent arcs or the same arc, then __ =N ¢ ar\s\es oxe

Anagles of Inscribed Polygons

If the inscribed angle of a triangle intercepts a semicircle, the angle is a Y“;.%[\‘ v angle.
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Example 2: Triangles ABD and ADE are inscribed in Circle F with AB = BD. Find the measures
of<land<2ifm<1=12x—-8andm < 2 =3x+ 8.
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Example 3: Quadrilateral ABCD is inscribed in Circle P. If m<B=80 and m<(£)=40,
find m<A and m<D. m ADL = @ (m<B
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